v2.3

—
< =
— [
s ®
=z -
O
=5
O =
o 3
o
o >,
a ©
(W
o
=z /)
495 o,
o 4
o
®@ =4
_|AWH e m msm MGw
o
LL & s LR CHE
o0 . “S8®™ N “S® @™
g e S w5 S X ¢
a < @ o gl o 0 o ga O 2a o
-_— S N o 25 . o o 257, =
| @ Lo ©isu s OQuElw (e InfsR T
[l BE W ] S iy r e Y
(@) - 3% Mt ™= L8 08
[ (O]
RN ATES © 03 2
53 |o|k N8 s
= 0 [ (0] P 7]
ve |lo|l8 — = £EET £
o o < o LL asoy@ o
S v 4w/4 L] a
T o @ c
s |19z N = m
d.m <y %
E
o9 ={ EI © w
22 |9]3 3 s 9
oy |05 ¥ ©
22 lolg - D
>0 E v @
3 c O
o BRud o e Q
S 4 =2 o
= .
(%) © o
- IS I
> I
c o W
O
S
=3
-
Q
©
L

160

— 130
—_

(e}
0

o7
£
£
0
«®

wuw ooy

CLIFF®600




. s
i 4
0

o

A

CLIFF°400 @

A°O maxi ?
CLIFF®200 ‘I@

20 mm (94,6.8)
30 mm (24,6,8)

40 mm (26.8)
50 mm (2s)

(o
(Hizm
(e
(|

(HHHHHHHH///I

CLIFF°400
CLIFF®600

CLIFF®200




Installation instructions

MonLines VO71
VESA Adapter for Samsung Frame 32 inch

MonlLines
Am Marienhof 8

22880 Wedel, Germany

Tel.: +49 (0) 4103 - 90387 - 00
Fax: +49 (0) 4103 - 90387 - 11

EN

*MonLines

dividual

1. Scope of delivery

Please check the scope of delivery for completeness
upon receipt of the product. The scope of delivery
includes 2 x adapter plates, 4 x screws M4x14, 4 x
screws M4x12, 4 x nuts M4 and 4 x washers.

Note: The nuts and washers can be used optionally to
protect the TV set / VESA adapter from signs of wear.

2. Attach the adapter plates to a VESA mount

Mount the adapter plates to the 200x200 mm threaded
holes of the VESA holder using the 4 M4x12 screws.

Note: The VESA holder is not included in the scope of
delivery. This is supplied with your chosen TV mount.
When selecting the monitor mount, make sure that it

has a VESA mount of 200x200.

3. Mounting the adapter with VESA mount on the TV

Mount the adapter to the TV using the 4 M4x14 screws.
Tighten the screws firmly, but not too tightly.

You can then attach the TV to the TV mount using the
mounted VESA mount.

E-Mail: info@monlines.com Page 1
www.monlines.com Version no. 2024-07




